Problem 2.85

For the network shown, choose the values of 
[image: image18.wmf]V

S

R

S

R

in

R

o

R

L

m

 V

in

+

V

in

_

+

V

o

_

 and 
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 is maximized.  What is the resulting ratio, 
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Suggested Solution
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Therefore,
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Clearly, to maximize 
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, we must maximize 
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.  This is because 
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 is always less than 1, but gets closer and closer to 1 as 
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 is made larger and larger.

On the other hand, to maximize 
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.  This is because 
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 is always less than 1, but gets closer and closer to 1 as 
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 is made smaller and smaller.

In the limit,
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